Year 2 Spring 2 Maths Activity Mat 4

If one apple weighs 20g,
how much would three
apples weigh?

S

What is % of 6?

What is the next month?

August, September,
October,

How long is the line?

Section 1 Section 2 Section 3 Section 4
Filipe has 50p. He buys Which 2D shape has Underline the tens.
a comic for 15p. How _ three corners?
much change does he 121s more
ot? 17 53 41
get: than 8.
Section 5 Section 6 Section 7 Section 8
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Year 2 Spring 2 Maths Activity Mat 4 Answers

Section 1 Section 2 Section 3 Section 4
Filipe has 50p. He buys Which 2D shape has Underline the tens.
a comic for 15p. How _ three corners?
much change does he 121is | 4 |more
o2 17 53 41

get: than 8.

35p triangle
Section 5 Section 6 Section 7 Section 8
If one apple weighs 20g, What is % of 6? What is the next month? How long is the line?
how much would three
apples weigh? August, September,

October,
60g 3 November 3cm
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Year 2 Spring 2 Maths Activity Mat 4

If one orange weighs
40g, how much would
two oranges weigh?

What is & of

147

What is the previous
month?

, April,

May, June

lines be?

How long would two

Section 1 Section 2 Section 3 Section 4

Harriet has £1. She Which 2D shape has Underline the tens.

buys a drink for 65p. _ five corners?

How much change does 3215 more 2 316 59
she get? than 17.

Section 5 Section 6 Section 7 Section 8

W**
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Year 2 Spring 2 Maths Activity Mat 4 Answers

Section 1 Section 2 Section 3 Section 4
Harriet has £1. She Which 2D shape has Underline the tens.
buys a drink for 65p. _ five corners?
How much change does 321s | 15 |more 2% 316 59
she get? than 17. B B B

35p pentagon
Section 5 Section 6 Section 7 Section 8
If one orange weighs What is 5 of 147? What is the previous How long would two
40g, how much would month? lines be?
two oranges weigh?

March , April,
May, June
80¢g 7 8cm
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Year 2 Spring 2 Maths Activity Mat 4

If three grapes weigh
15g, how much would
one grape weigh?

What is & of 24?

What is the next month in
the sequence?

July, October, January,

shape?

Section 1 Section 2 Section 3 Section 4

Boris had 50p. He gets What 2D shape has 3 Underline the tens.

a 20p, 5p and 2p coin _ corners?

as change. How much 63 is more 238 149 262
did he spend? than 39.

Section 5 Section 6 Section 7 Section 8

Measure all the sides of
the square. How far is
it all the way round the
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Year 2 Spring 2 Maths Activity Mat 4 Answers

Section 1

Boris had 50p. He gets
a 20p, 5p and 2p coin
as change. How much
did he spend?

23p

Section 2

63 is | 24 |[more

than 39.

Section 3

What 2D shape has 3
corners?

triangle

Section 4
Underline the tens.

238 149

762

Section 5

If three grapes weigh
15g, how much would
one grape weigh?

Section 6
What is & of 24?

12

Section 7
What is the next month in
the sequence?

July, October, January,

April

Section 8

shape?

Measure all the sides of
the square. How far is
it all the way round the

10cm
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